OELBREt 4 —HEETEOINRICEY HFHR

Nitﬁiiﬁyj‘@fﬁkﬁﬁ%ﬁiﬁiﬁ B (4l/4) — mgg_;ﬁ_{"a' ~
7K 57 #iE
KEREIRE H25.5.7 H258.12 H25.11.8 H25.11.8] (BLT)
pH 7.1 7.8 7.7 8.9 5.8~8.6
BOD 0.6 1.1 <0.5 27 15
SS {1 2 2 < 10}
TEXEETEYHEE {1 <1 <1 <1 5
TiEF M E Y RIESE <1 <1 <1 <1 30
FOFHEE 5 10 1 24 220
DO — — - — -
RAEEEN - - - e —
HRETLEBUZEDIEEY <0.005 <0.005 <0.005 <0.005 0.1
U7 ALEY ND(<0.1){ ND(0.1)] ND(0.1) ND(<0.1) 1
i ND(<0.1) ND{<0.1) ND (<0.1) ND(<0.1) 1
SRULTDIEEY <0.02 <0.02 €0.02 £0.02 0.1
7R L <0.04 <0.04 <0.04 <004 0.5
HERUVZOIEEED <0.01 <0.01 <0.01 <001 0.1
#kER - <0.0005] <0.0005 <0.0005 <0.0005 0.005
FILEILKERIEE Y ND (<0.0005) | ND (<0.0005) | ND (<0.0005) ND (<0.0005) ND
RUEBI{EETIZ =)L ND (<0.0005) | ND (<0.0005) | ND (<0.0005) ND (<0.0005} 0.003
Jx/—IEEHE <0.025 <0.025 0.031 0.031 51
HEH 0.15 0.03 0.08 043 1}
HINEHE 0.02 0.06 0.01 0.02 i
BRESEES <0.1 <0.1 <0.1 0.1 10
AREILAVERE <0.1 <0.1 <0.1 0.2 10]
SOLEEE <0.04 <0.04 <0.04 <004 2
FS3ERUVFOIEED 0.1 0.1 0.1 0.1 10
SOBERUZOEEY <0.1 <01 <0.1 0.1 8|
FAZOOITFLY £0.02 <0.02 £0.02 <0.02 0.3
ThZOQIFL <0.001 <0.001 <0.001 <0.001 0.1
R AR, <0.02 £0.02 <0.02 <0.02 0.2
R (A <0.002 £0.002 <0.002 <0.002 002
1.2-U400T48Y <0.004 <0.004 <0.004 £0.004 0.04
IRED == 05, £0.02 £0.02 <0.02 <0.02 0.2
L A-1,2-DO00TFLY <0.04 <0.04 <0.04 <0.04 0.4
11 I-FjAnaT e <0.001 <0.001 <0.001 <0.001 3
112-RyAnoIT e <0.006 <0.006 <0.006 <0.006 0.06
13-Ao20o07ORy <0.002 <0.002 £0.002 <0.002 0.021
F5 L, <0.006 <0.005 <0.006 <0.008 0.06
M) <0.003 <0.003 <0.003 <0.003 0.03
FARHILT €0.02 <0.02 <0.02 <0.02 0.2
A <0.01 <0.01 <0.01 €0.01 0.1
LU RUEDIEEY <0.01 <0.01 <0.01 <0.01 0.1
BWER 8.4 9.6 6.9 6.9 125
PUESTHEER 29 0.1 6.9 8.9 —
ST E R <0.02 <0.02 <0.02 <0.02 -
THBRTEEE R 5.5 9.5 <0.02 <0.02 —
E{emA4 — — 2,500 5,100 =
14-2A4 %5 — <0.05 <0.05 <0.05 0.5




OELBEvrVI—HBFEEOKRRICET HI5H
SpgosfE11 BSBIEK ik T ARER OB DA KERESE (B/F) mg/L
— HE T K T SIESES =%(8
FENO.1 | #FENO.2 | #FENO.3 3 T (BLT)
pH — — — 7 7.6 6.5~8.5
BOD — — — <0.5 €0.5 2
35 - = — <1 3 25
T EEETYRE — — — — — —
SEEMEEY RS -~ - — — — —
FOFEES — — — — — —
DO ' — — — 10 9.7 7581 F
NiEEEN — — - 11,000 17,000 1000
ARSI LBUOEDEEY <0.0003 <0.0003 £0.0003 <0.0003 <0.0003 0.01
L FALEY 0.1 <0.1 <0.1 <0.1 <0.1 ND
EHs -~ — — — - — —
BEUVETOLEED <0.005 <0.005 <0.005 <0.005 £0.005 0.01
TR 0L <0.01 <0.01 <0.01 <0.01 £0.01 0.05
MEEVEOLEEY <0.005 <0.005 -+ <0.005 <0.005 <0.005 0.01
K ER £0.0005 <0,0005 <0.0005 £0.0005 <0.0005 0.0005
FILFILIKERIEED <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 ND
ROEIEETT =)L <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 ND
Jz/—ILiEEE — — — = — —
HEFEs — — — — - -
EX — — = — - -
BEEUHREEE — — - — . -
BRI HVEEE — — - - e -
JO0LEH — — - — - i
E3FEEBEUVEDLESY - — - <0.05 <0.05 1
SoFRBUFDIEEY ~ — - — £0.05 <0.05 0.8
rysOgITFLL £0.002 <0.002 <0.002 <0.002 <0.002 0.03
ThSHZA0TF L2 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.01
SHOO AR, <0.002 <0.002 <0.002 <0.002 <0.002 0.02
Eltiks <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 0.002
1.2~ RATA <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 0.004
1,1-C008IF LY <0.002 <0.002 <0.002 <0.002 <0.002 0.02
S R=1,2-U 00T F LY <0.004 <0.004 <0.004 <0.004 <0.004 0.04
1,11-M)jZnnIT iy £0.0005 <0.0005 <0.0005 <0.0005 <0.0005 i
1,1.2-R)o0oTAa, <0.0006 <0.0006 <0.0006 <0.0006 <0.0006 0.006
13~-ann7aay, £0.0002 <0.0002 <0.0002 <0.0002 £0.0002 0.002
Fr251 <0.0006 <0.0006 <0.0006 <0.0006 <0.0006 0.006
R <0.0003 <0.0003 <0.0003 £0.0003 <0.0003 0.003
FAAANLT £0.002 <0.002 <0.002 <0.002 <0.002 0.02
A <0.001 <0.001 <0.001 £0.001 <0.001 0.01
LU BRUFDIES <0.002 <0.002 <0.002 <0.002 <0.002 0.01
BREER ~ - - - — —
e = = = - > -
B % - - — A
T — — — 0.29 0.73 10BLF
Bt AA — — — — — —
1.4-A XY <0.005 <0.005 <0.005 <0.005 £0.005 0.05
BiEZIJLE/T— <0.0002 £0.0002 <0.0002 — — 0.002
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